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eneral conditions

Boost PFC
Vgeon = 15V
Vgt = OV
Ryn = 16 Q
Ry = 16 Q
Vin = Vigp*sinot
Figure 2 FWD

Typical average static loss as a function of input current

Typical average static loss as a function of input current

Ploss = f(l in) Ploss = f(l in)
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Figure 3 IGBT Figure 4 FWD
Typical average switching loss Typical average switching loss
as a function of input current Ploss = f(Iin) as a function of input current Ploss = f(Iin)
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fsw from 20 kHz to 160 kHz in steps of factor 2
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Figure 5
Typical available input current
as a function of Vinp / Vout

PFC-per leg

Ii, = f(Vinpk/VOUt)
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Figure 6
Typical available input current
as a function of switching frequency I, = f(f,,)

PFC-per leg
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Figure 7 PFC-per leg Figure 8 PFC-per leg

Typical available input current as a function of
Of Vinpk / Vout and switching frequency/;, = f(fy,, Vin/Vout)

Typical available input current
as a function of switching frequency I, = f(f,,)
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Figure 9

Typical available electric input power as a function of

PFC-per leg

PFC Application
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PFC-per leg

Typical efficiency as a function of input power

heatsink temperature P, = f(Ty) efficiency = f(P,)
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Figure 11 PFC-per leg Figure 12 PFC-per leg
Typical available electric input power as a function of Typical efficiency as a function of input power
heatsink temperature P, = f(Ty) efficiency = f(P,)
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Vinpk/Vuut = 014
fsw from 20 kHz to 160 kHz in steps of factor 2
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Vinpk/Vuut = 014
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Figure 13 Rectifier

Typical average static loss as a function of input current

Figure 14 Rectifier Bridge

Typical efficiency as a function of input power

Pross = (1) efficiency = f(P,)
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Typical efficiency as a function of input power Typical efficiency as a function of input power
efficiency = f(P,) efficiency = f(P;,)
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fsw from 20 kHz to 160 kHz in steps of factor 2

copyright Vincotech

fsw from 20 kHz to 160 kHz in steps of factor 2

12 Mar. 2016 / Revision 1



